REPLACEMENT PARTS

Not all components of the Toilet Master Jack are replacement items. When ordering, give part number and parts
description. Call or write for current pricing: JUNCA INVENTIONS UNLIMITED, LLC, P.O. Box 53604, Lafayette,

LA 70505 Tel: 337-962-6878

item Part# Description Qty Iltem Part# Description Qty
1 SMTD-1000-00 |Base Frame 1 15 SMTD-5005-00 | Frame End Cap 2
2 SMTD-5009-00 |Caster 4 16 SMTD-4000-00 |Handle Assembly 1
3 SMTD-5011-00 | Nut M8x25 4 17 SMTD-5008-00 |Bottle Jack 1
4 * Hex bolt M6 x 65 2 18 * Hex bolt M6 x 40 1
5 N/A Bushing 4 19 GB/T41 M6 Nut M6 3
6 N/A Lift Up Frame 1 20 SMTD-5003-00 | Spring 1
7 * Flat washer g6 4 21 SMTD-5002-00 |Pin 1
8 * Lock nut M6 4 22 5405-02022 Clip 1
9 SMTD-5010-00 |Handle Holder 2 23 * Screw M6x16 2
10 * Screw M4x10 5 24 * Spring Washer 26 2
1 * Hex bolt M6 x 55 2 Hardware Kit (includes
12 | SMTD-5007-00 |Rubber Bumper 3 - RT100-99 everything marked 1
13 N/A Cross Frame 1 oL
14 SMTD-5006-00 |Long Plastic Tube 2

L9 N
)

llustration for the Toilet Master Jack Model RT 100 replacement parts

7




